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Introduction
In RAN4#97-e meeting, companies provided their views of how to design the RRM test cases for power saving. Good progress has been made and some of agreements and remaining issues have been captured in the WF [1] and they are listed as below
	Agreement:
· Use separate tests for each criterion (low mobility/not-at-cell-edge)
· Different priority frequency layers coexist in the same test for different priority frequency layers
· Exclude high priority layer cell search for inter-frequency/inter-RAT
· Use two round (to and back) cell reselection process for intra-frequency power saving test cases
· FR1: Use two round (to and back) cell reselection process for inter-frequency/ inter-RAT in power saving test cases
· FR2: Use two round (to and back) cell reselection process for inter-frequency in power saving test cases. Further check on TE feasibility for FR2
· UE gain in FR2 should be considered.  FFS: Leave the threshold impacted by G as [TBD] and discuss it in the next meeting
· SSearchDeltaP  can be configured to 3dB for FR1 and 6dB for FR2
· SSearchThresholdP  can be configured to (Srxlev – X) dB, X = 6dB for FR1 while7.5dB for FR2
· Exclude the cell search process from test repetition
· Use shorter DRX cycle to improve test efficiency: DRX = 0.64 s TSI-NR = 1280ms
Remaining issues:
· UE gain in FR2 should be considered.  FFS: Leave the threshold impacted by G as [TBD] and discuss it in the next meeting



In this contribution, we provide our view on the issue. 
Discussion
Srxlev is derived as follows [2]: 
Srxlev = Qrxlevmeas – (Qrxlevmin + Qrxlevminoffset )– Pcompensation - Qoffsettemp
Qrxlevmeas is the measured cell RX level value (RSRP). For FR2 inter-frequency NR case, according to clause B.2.1.5 in [3], SS-RSRP is defined to be measured based on the combined signal from antenna elements corresponding to a given receiver branch. The reported SS-RSRP values should be affected by UE gain. 
The gain range for each power class is specified in Table B.2.1.5.1-1.
Table B.2.1.5.1-1: UE gain G, Rx beam peak direction
	
	UE Power class

	
	1
	2
	3
	4

	Minimum, dBi
	FFS
	FFS
	-10
	FFS

	Maximum, dBi
	FFS
	FFS
	+20
	FFS



Proposal 1: The UE gain should be considered for FR2 inter-frequency NR case. 
Pcompensation = 0 for FR2.
Qoffsettemp = 0
Qrxlevminoffset  is offset to the signalled Qrxlevmin, the range is 0, 2, 4,…, 16dB
Take cell reselection to FR2 inter-frequency NR case for UE fulfilling not-at-cell edge relaxed measurement criterion as an example:
[bookmark: OLE_LINK15]The test consists of T1 and T2. Cell 2 is of higher priority than Cell 1. Initially, the UE camps on cell2 and fulfils not-at-cell edge criterion. The UE reselects to low priority cell1 during T1. The UE reselects to high priority cell2 during T2. 
During T1:
Cell 2 is the serving cell and Cell 1 is the target cell. UE reselects from high priority cell to low priority cell according to the rules:
Srxlev of serving cell  < Threshserving, lowP  and Srxlev of target cell > ThreshX, LowP
If add the UE gain as the margin, to ensure cell reselection to Cell1, it requires:
Srxlev (Cell2) + 20  < Threshserving, lowP and Srxlev (Cell1) - 10 > ThreshX, LowP
Srxlev (Cell1) > Srxlev (Cell2) + 10 + 20 + 7.5
Srxlev (Cell2) - 10  > SSearchThresholdP
Cell2 RSRP = -106dBm/SCS Noc = -102 dBm/SCS Qrxlevmin = -140dBm/SCS Srxlev = -106+140 = 34dB Threshserving, lowP = 55dB
Cell1 RSRP = -68dBm/SCS Noc = -82dBm/SCS Qrxlevmin = -140dBm/SCS Srxlev = -68+140=72dB
, Srxlev (Cell1) = -68+140 = 72dB ThreshX, LowP =62dB
At the end of T1, UE reselects to Cell 1.
During T2:
Cell 1 is the serving cell and Cell 2 is the target cell. UE reselects from low priority cell to high priority cell according to the rules:
Srxlev of target cell > ThreshX, HighP
If add the UE gain as the margin, to ensure cell reselection to Cell2, it requires:
Srxlev (Cell2) - 10 > ThreshX, HighP
For Cell 2, set Srxlev (Cell 2) - 10 > SnonIntraSearchP  to not measure Cell 1.
Cell1 RSRP = -68dBm/SCS Noc = -82dBm/SCS Qrxlevmin = -140dBm/SCS Srxlev = -68+140=72dB
, Srxlev (Cell1) = -68+140 = 72dB
[bookmark: _GoBack]Cell2 RSRP = -85dBm/SCS Noc = -102 dBm/SCS Qrxlevmin = -140dBm/SCS Srxlev = -85+140 = 55dB ThreshX, HighP = 45dB
Proposal 2: Considered UE gain G, take FR2 inter-frequency NR case as an example, and calculate the corresponding parameters accordingly.
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]Conclusion
In this contribution, we provide our proposal for test case of FR2 inter-frequency NR case for UE power saving.
Proposal 1: The UE gain should be considered for FR2 inter-frequency NR case.
Proposal 2: Considered UE gain G, take FR2 inter-frequency NR case as an example, and calculate the corresponding parameters accordingly.
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